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Q: 
Discuss the consistency of the difference scheme
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to the initial value problem
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S:
We should examine 
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in order to discuss the consistency of the difference scheme.
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Using  
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It seems that: 
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Therefore, the difference scheme is consistent for all values of 
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However, let’s examine the question on the borders, for 
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(we will use 
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The consistency disappears on the border, because of using 
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(we will use 
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The consistency disappears on the border, because of using 
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If border values are given, there will not be any problem about consistency, because we do not need to calculate border values. On the other hand, if the givens are inside the interval; there could be consistency losses on the border.
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